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SN BBRSD
M DE2 DR HS(SHYBB/BT)
ool 22BN F4 (5l &2
SA-FH - SA(SAH) - MREAY - BES Off &F K I8N Hws2
01 XXISHH K= R E 200,000 100,000 100,000
CEI RSP EE-T! 200,000 100,000 100,000
ARDHBI N 301,700 101,700 200,000
403 THXISHSKH2O0IE 300,000 100,000 200,000
01 XtXISHH =R E 300,000 100,000 200,000
OUEYSIE HANE £4 200,000 0 200,000
BN 2BHL SUAA(2D) 80,000 0 80,000
= 80,000 0 80,000
308 XEHSOIH 80,000 0 80,000
= 80,000 0 80,000
01 NASHILZES 80,000 0 80,000
OBN BUNYL YA 80,000 0 80,000
2 80,000 0 80,000
BN E8 L K 7,483,750 7,310,050 173,700
= 115,800 0 115,800
= 4,598,000 4,598,000 0
= 2,769,950 2,712,050 57,900
BEX WH=ST(2D) 173,700 0 173,700
= 115,800 0 115,800
= 57,900 0 57,900
403 THXISHHSKH=O0IF 173,700 0 173,700
= 115,800 0 15,800
= 57,900 0 57,900
01 XXM =R E 173,700 0 173,700
OSEIIGNB BT HeH=T 73,700 0 173,700
2 115,800 0 115,800
= 57,900 0 57,900
2 cyze ze 1,381,900 1,231,900 150,000
[T JIYAIL =B 877,650 727,650 50,000
403 THXISHSKHZO0IR 150,000 0 150,000
01 XXM =R E 150,000 0 150,000
OsoS DERAMH N 150,000 0 150,000
NeiSsis 22X o 16,683,800 17,258,800 A575,000
= 859,000 859,000 0
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o9l NNSHE BN Y (B9l
SN B C(BH) - HRAY - B Ofl AF o ol jes)e Rz
NeiSsts 2N e | 8,667,000 8,880,000 £213,000
= 7,157,800 7,519,800 362,000
Dzt 22 212 (21) 11,335,000 1,760,000 425,000
| 5,667,000 5,880,000 £213,000
= 5,668,000 5,880,000 ~212,000
401 ASHI L2 11,335,000 1,760,000 £425,000
| 5,667,000 5,880,000 ~213,000
= 5,668,000 5,880,000 £212,000
04 A& 10,700,373 11,123,950 £423,577
oMz A 10,700,373 11,123,950 £423,577
I 5,349,687 5,561,975 ~212,288
= 5,350,686 5,561,975 ~211,289
05 Z2lbl 631,627 633,050 A1,423
ooNZHSE A 631,627 633,050 A1,423
ol 315,813 316,525 ATI2
= 315,814 316,525 AT
DNZESZHAIE 222y 630,800 780,800 ~150,000
206 Mzl 350,000 500,000 £150,000
01 M=zl 350,000 500,000 150,000
Oz S 2 HARS LB 47 350,000 500,000 150,000
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